= o
A & 0l & AFSE E Al A
20149 S0la LB H HAIISFEH 2
S M EE
FM: HdsdEig & =X g3 AN
S YHBS =X (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
sz 2 30,700,975 25,485,897 5,215,078
= 9,659,082
& 1,300,000
J| 10,793,837
& 674,618
< 8,167,438
£ 106,000
OEsElY & =X &5 &M 23,730,003 19,993, 309 3,736,694
= 8,552,354
J| 8,294,195
&2 534,406
< 6,343,048
£ 6,000
d8dEs =8 1,738,747 1,512,457 226,290
=2 31,747
= 1,707,000
R4 29 80,000 70,000 10,000
307 gl2tol & 80,000 70,000 10,000
10 A2l =S X2 X 80,000 70,000 10,000
Orztz=d 22 80,000
A2 S A XI& 31,747 31,747 0
& 31,747
201 Let24E] 1,747 1,747 0
&2 1,747
01 At 22l 1,747 1,747 0
OWdg=x2Id&dAt XI& 1,747
= 1,747
308 XtXIEHH SOl A 30,000 30,000 0
& 30,000
01 X HHILEES 30,000 30,000 0
OWL=2DE8HAL XI& 30,000
& 30,000
OEEIfeEd 29 1,375,000 1,160,000 215,000
306 ¢ 2 1,375,000 1,160,000 215,000
01 &3 1,375,000 1,160,000 215,000
ONgE MWL 29 1,375,000
HEZHBEES XA 4,000 4,000 0
307 i+l & 4,000 4,000 0
04 QIZtHAIE XS 4,000 4,000 0
OWEZHEES KA 4,000
HEEMYR =4 &5 238,000 246,710 A8,710
201 Let24E] 28,000 32,210 24,210




SN IS
HE: GlHSENY U =X HE N
Sl YHBS =X CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 28,000 32,210 24,210
OCHIIE HUURET FABHLY S 20,000
OFMIEZ/AS & 8,000
203 R =&t 10,000 14,500 A 4,500
03 AIMFXH R =AY 10,000 14,500 24,500
OUEIIERHAREN 7,000
OoWd=H 54 & X& 3,000
307 glz2tol & 200,000 200,000 0
10 AtEI =X 2 X 200,000 200,000 0
ONEZLEIX XA 200,000
HOIXl SH AMAE 2= 10,000 0 10,000
307 glz2+0l & 10,000 0 10,000
02 QItFAE XS 10,000 0 10,000
OHdEZclSH XA &2t 10,000
HEASI &0 =0 3,685,433 3,295,848 389,585
= 2,266,950
J| 378,600
= 502,659
= 531,224
£ 6,000
Heolgdfgx & 661,548 647,548 14,000
= 25,000
& 502,659
= 133,889
307 21201 A 5,000 0 5,000
02 P AEXS 5,000 0 5,000
OndolxHoratanl 22 5,000
308 X EHSOIA 641,548 647,548 A 6,000
= 25,000
=2 502,659
< 113,889
01 HIXNHHNBHNEES 641,548 647,548 A 6,000
Ogelgdifgdyd 29 597,048
& 502,659
< 94,389
OXNAHLEAA™TAMNLY X 12,000
OCtHA Hel HgdH X2 32,500
= 25,000
< 7,500
403 MtXISHH S0l & 15,000 0 15,000
01 XM A=2EE 15,000 0 15,000
OdeEIEdH JIs2Z 15,000




2N
X ZH -
L= B

el

CEEPET-ETE
GlESeY L =X #S F
Of & AFEI & 01 2HCH

CEHH B (BH) - MBEAY - B2 ﬁlf& HDS2

FEHEHALAFHAXA 2,540,585 2,284,000 256,585
= 2,241,950
[ 298,635

308 AXISHXMSOIH 2,540,585 2,284,000 256,585
= 2,241,950
= 298,635

01 HAXHHNBIMNEXTS ,540,585 2,284,000 256,585
OZEHENHY FHAXA 2,540,585
= 2,241,950
& 298,635

HAEAZENH R 85,500 72,500 13,000
o= 79,500
£ 6,000

307 212t0| & 70,500 57,500 13,000
& 64,500
£ 6,000

02 DI2tFAE = 12,000 10,000 2,000
OEWHHHE2S AIRA 2dXts X3 12,000

05 QIZtR E 2 20,000 12,000 8,000
OsY Y XXIHE 2A=E 20,000

10 MaISXIEX 38,500 35,500 3,000
ONd=0AdU3 &2 4 1,500
osdYu4dsnts thal 26,000
== 20,000
£ 6,000
OWAXN XA SHLX 3,000
OsHHAEZE 48 (HEESF 8,000

308 X SHAMSOIA 15,000 15,000 0

01 AIXHMBAEXZ 15,000 15,000 0
OAXN T A SHUSALY 15,000

202X XNELXel FHEAA 172,800 145,800 27,000
Dl 153,600
o= 19,200

308 XX S M SO0l & 172,800 145,800 27,000
Dl 153,600
o= 19,200

01 AXHNBIAMNEXS 172,800 145,800 27,000
OZ=012X XNGLXel FHEAA 172,800
Dl 153,600
== 19,200

JEacddEpd s8N 3 225,000 146,000 79,000
Dl 225,000

308 AXISHXSO0IH 225,000 146,000 79,000
Dl 225,000




S M EE

HE: HaSHNY U =X BS ®H

&2 HEASIE0 = (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 AXHHILEES 225,000 146,000 79,000
OZgHE0E NEEA XNE 225,000
J| 225,000
HyoAES & oe 3,529,290 2,944,160 585,130
= 411,954
J| 1,998,288
< 1,119,048
S0 DS(HAZS oLS A HSSYHAE 127,000 148,000 A21,000
8, 459 2E)| AAEHM ERF )
J| 60,000
= 67,000
307 izl & 119,000 128,000 A 9,000
J| 60,000
< 59,000
10 A3 =X 2 X 119,000 128,000 A 9,000
OWE=Y Higs A JI2sdHAEE 20,000
Od od wsAMd 40,000
J| 20,000
< 20,000
O&ols - E4ad 4 oA WS 40,000
J| 40,000
O8==H0gd 23 d&tsl 3,000
OWEAUZSE AE SAX A3 16,000
308 XtXIEHHSOIA 8,000 20,000 A 12,000
01 AXHHIYEES 8,000 20,000 A 12,000
O0glol 4= 0l deld=s us 8,000
JHE =" ¢X & MoK 1,125,419 2,083,857 058,438
J| 675,415
< 450,004
307 21201 A 360,998 5,000 355,998
J| 170,179
= 190,819
10 A2l =S X2 X 360,998 5,000 355,998
Od2=d3 136629 325,718
J| 162,859
< 162,859
OZAHE EAMX HRIHAU| 20,000
O3AE JHEZHIo I 2= HI 8,400
J| 5,880
< 2,520
OSIlt™ 29 4,000
OZddEH ML Ex0S 2,880
J| 1,440
< 1,440
308 XX EHHSOIA 719,546 2,036,857 A1,317,311




CPBIEEEE
D OIHSENY W =X BE A
L oHoAES W oY

- _ _ RE]
N HE - B9 (3H) - HEAY - BA=S Ol At o %@i HRE2
I 776,986
= 242 /560
01 IIXHHIMNEXS 719,546 2,036,857 A 1,317,311
OJE=Zd0lNESAE 29 XA 361,976
J| 298,098
< 63,878
ONHZATHRNELSAL HISZT AHY X
2 19,300
J| 19,300
OAZHAHAAL SAAN EFUS 25,560
J| 17,040
= 8,520
OJIEZE0A Xigse T2 144,500
J| 119,000
= 25,500
OJE=Z4d HoH X 2=dl X 28,594
J| 23,548
& 5,046
OY - d=Z=8aEA 2H(F4) 84,000
OWAEXNAESAX HRHHEH] 35,616
O} Z2E MM XA 20,000
402 SI2vXHE0| ™ 10,000 0 10,000
J| 5,000
=} 5,000
01 812t X 10,000 0 10,000
01366 Jls22d 10,000
J| 5,000
& 5,000
403 XS HSK=0l & 34,875 42,000 AT, 125
J| 23,250
o=t 11,625
01 XIS A=Z2E X 34,875 42,000 NT,125
B3N S Jls:Ed 34,875
J| 23,250
= 11,625
HE  NEANNSISL ML LAY 122,590 132,850 A 10,260
J| 100,957
= 21,633
308 MXISHMSOIA 122,590 132,850 A 10,260
J| 100,957
= 21,633
01 IXHHIMNEEXTZ 122,590 132,850 A 10,260
OJIEZEIIolAF DR XS AFY 86,737
J| 71,431
& 15,306
O&8ZIIol At AR S ALY 35,853
J| 29,526




SN IS
HE: GlHSENY U =X HE N
Sl MoIAEE U oY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| [ 6,327
SOHHIIHH A ES L X & 402,013 386,830 15,183
2 310,366
& 91,647
308 XHXIEHSOlA 375,388 355,705 19,683
= 292,616
&< 82,772
01 AIXSHHEMNEXZ 375,388 355,705 19,683
OSNIHT NBAL 2 189,210
= 155,820
o= 33,390
OSOHOHIoH A 2H 105,360
= 70,240
& 35,120
OX0HOHTIoH A OEE 29 41,055
= 33,810
o= 7,245
OXSOHOHII o XF 2 EKI&AFS 39,763
= 32,746
& 7,017
403 XX SHHS K20 & 26,625 31,125 A4 ,500
2 17,750
& 8,875
01 XIS A2 X 26,625 31,125 A 4,500
OXOHOHTIGH A KRSAIE JsE2d 26,625
=2 17,750
o=} 8,875
HAEEOHOIAIS Z SRS 72,774 72,777 A3
= 64,688
= 8,086
308 AMXISHHMSOIA 72,774 72,777 A3
2 64,688
= 8,086
01 IXHHIMNEXZ 72,774 72,777 A3
O ZOHRl AFSI &N &0 K& 72,774
2 64,688
& 8,086
I ZESLMN0IFTHAEAEZSL XA 113,221 119,846 N6,625
Jl 93,241
= 19,980
308 AHXIEHSOIA 113,221 113,221 0
J| 93,241
o 19,980
01 AIXSHMENEX= 113,221 113,221 0
OZ&Ilol 0IF0HHE ESAE 24 113,221
J| 93,241




M o6&t

=D
X ZH - O:I/\%ia:-l
(=R B o o M

2

g &2 52X g5 &M
el oMoIAEE U o CEEEED
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
| == 19,980
AZSL XY OioHA XA 1,566,273 0 1,566,273
= 36,900
| 1,068,675
< 460,698
307 glz2+ol & 328,423 0 328,423
| 228,456
< 99,967
10 A3l =X 2 X 328,423 0 328,423
O0&stw=2 TIoHA ONESTOPXIR HIEH 2 288,750
J| 202,125
= 86,625
OdAs =gt 2=l 32,473
| 22,731
< 9,742
Osd OtsH4detd X9l =29 7,200
J| 3,600
< 3,600
308 KX SOIA 1,217,850 0 1,217,850
= 36,900
| 840,219
< 340,731
01 AXSGHBLELS 1,217,850 0 1,217,850
OootsodEsXYgdl 29 81,000
| 54,000
= 27,000
OOtsHEXE MEX 47,970
= 36,900
< 11,070
Od=Zzdags 29 438,266
| 292,177
= 146,089
oizg=gagas 29 261,630
| 174,420
< 87,210
OZMILE=ZHTHA ESAE 29 233,427
| 192,234
< 41,193
O LE=HIHA ESAIE Sl 25,752
| 17,168
< 8,584
OXMANE=ZHATIMNAESAE B3 A 18,820
| 18,820
Od=Zg8Ici kA NgslsZ=20H 68,485
| 56,400
< 12,085
Od=Z4dnci it 2zdl XA 42,500
| 35,000




A HHIIISEMH 2
HE: GlHSENY U =X HE N
Sl MoIAEE U oY CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
[ 7,500
403 XX SHHS K20 & 20,000 0 20,000
01 XIS A=Z2E X 20,000 0 20,000
OdZHAMNEA JsES 20,000
Ctekst JIE0 st K& 14,776,533 12,240,844 2,535,689
= 5,873,450
J| 5,917,307
=} 2,985,776
SIERIIZSANHEHYF=H SAE 3,363,736 2,818,380 545,356
= 83,661
J| 2,275,013
& 1,005,062
308 MXISHHMSOIA 3,363,736 2,818,380 545,356
= 83,661
J| 2,275,013
& 1,005,062
01 IXHHIMNEEXTZ 3,363,736 2,818,380 545,356
ONAE 82 IIE MEotd X 502,778
OFA4E st g X 62,281
= 57,936
= 4,345
Ost22IIE NHEH2=H s NS 2,559,389
J| 2,275,013
= 284,376
OsetE2It= XNHWEH A 173,845
OnE22A NI 29X 33,443
= 25,725
& 7,718
OHMUt22Z a2 LtsD| 32,000
ALINAEXNNKFAALE 2HAH 1,197,125 1,551, 140 A 354,015
= 861,250
& 335,875
307 2izto| A 30,000 15,000 15,000
10 SIS XIEX 30,000 15,000 15,000
OJNEAZ JIEHE =H M3 30,000
308 MXISHMSOIA 1,157,125 1,536, 140 AN 379,015
= 861,250
=} 295,875
01 MIXHHINMNEEXTZ 1,157,125 1,536, 140 A 379,015
OHUINEXNEANAH XA 847,925
= 652,250
& 195,675
OJsd 23t 271,700
= 209,000
o= 62,700




2N

HE: GlHSENY U =X HE N
S Chst Jt=0 et X (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OALINFXNEME SHEZZ2 DY (0EIRR/2
FUR) 9,000
OEN2 IHE=SAN OHE 28,500
403 A X EHHS =0l A 10,000 0 10,000
01 X SHHA2E= 10,000 0 10,000
OHZINEFXNAEH Js22 10,000
ChENEXNJHEH 22 4,133,907 4,049,334 84,573
J| 3,642,294
< 491,613
307 gl2tol & 37,720 38,471 AT51
9] 25,648
< 12,072
10 AtEI =S X2 X 37,720 38,471 AT51
OFEUINEFHHZ I 36,640
J| 25,648
< 10,992
OSHUSFAHBHEH SAA HIH&HI 1,080
308 AAEHHSOIA 4,096,187 4,010,863 85,324
J| 3,616,646
< 479,541
01 HXNHHBHELS 4,096,187 4,010,863 85,324
OU=aINEXNEHH 2 N 3,281,951
J| 2,908,059
< 373,892
OUREIIEXNJAHEH SAA HH&HI 14,544
OUIsItE S8HA HHlA M2 224,559
J| 198,976
< 25,583
OU=2aIIE HHAHgeE & 433,990
J| 384,548
< 49,442
OdgMna 29 XN& 141,143
J| 125,063
< 16,080
ChE3E A= RIIAE N & 238,576 351,200 AN 112,624
308 XX EHHSOIA 238,576 351,200 A 112,624
01 HIXNHHNBMNEES 238,576 351,200 A 112,624
OLU=3 =AY 223,576
O=sEU2sIIE8s &3Hd X3 15,000
OtOl=S KA AL 5,173,649 2,987,826 2,185,823
= 4,563,923
< 609,726
308 A EHHSOIA 5,173,649 2,987,826 2,185,823
= 4,563,923




SN IS
HE: GlHSENY U =X HE N
S Chst Jt=0 et X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 609,726
01 AXHHBIYEES 5,173,649 2,987,826 2,185,823
OO0l SE X & ALY 5,047,249
2 4,451,923
< 595,326
OJMNESA0 & SSs0tUsEH 29 126,400
= 112,000
< 14,400
StRE2IIE EEXAE 22 N2 669,540 482,964 186,576
= 364,616
< 304,924
308 XXM SO A 261,471 284,056 N 22,585
2 12,570
= 248,901
01 IXNHHBNEES 261,471 284,056 A 22,585
OstRE2IIE SNANELAX 4EIIEXE 16,341
= 12,570
< 3,771
OBR2IIE SXAE 24 217,536
OstR2IIE SXNANELE LI HEEES 6,300
OstR2IIE SXNAE2 2R MRMAH 8,694
OSR2IE SAANENHEH EXSH 12,600
403 Mt S E X201 & 408,069 198,908 209, 161
= 352,046
< 56,023
01 AXSHHMA2E = 408,069 198,908 209, 161
StR2I0IE EXAIE JIsEZ 408,069
= 352,046
= 56,023
OGEstrdadst & XNEEs &8N 271,500 398,968 A 127,468
< 171,500
£ 100,000
28 d st 271,500 398,968 AN127,468
< 171,500
£ 100,000
Ch2atE o zetsy 171,500 140,968 30,532
301 LAz 1,500 2,000 A 500
09 AL HIE &S 1,500 2,000 A 500
OZHEZ A 2tE 3 1,500
307 glz2tol & 170,000 125,000 45,000
10 AtSI =X 2 X 170,000 95,000 75,000
OCt23Itd g4d3AY 170,000
(Ast=tiestd 72 29 100,000 100,000 0
£ 100,000




SN IS
M (2R ELs ¥ NABE FIY
el TRt e dst (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 100,000 100,000 0
£ 100,000
02 QItFAEXZ 100,000 100,000 0
O(ANEIIAUL2SHARA 2 100,000
£ 100,000
dad BE5 9 4 6,605,992 4,996, 140 1,609,852
= 1,106,728
2 1,300,000
J| 2,499,642
= 140,212
< 1,559,410
Al JFoeast 3,821,823 2,490, 168 1,331,655
= 1,057,000
= 1,300,000
J| 631,925
< 832,898
AU 993 29 6,000 6,000 0
201 Let24E] 6,000 6,000 0
01 At 22l 6,000 6,000 0
OFad 23 33 29 6,000
Fad 2E =3 MUlA 2 1,057,000 842,000 215,000
= 1,057,000
308 MtXIEHMSOIH 1,057,000 842,000 215,000
= 1,057,000
01 HXNHHBHELS 1,057,000 842,000 215,000
O®AE &% 03O0 1,057,000
= 1,057,000
ol 23 M5 2,491,323 1,463,168 1,028, 155
& 1,300,000
J| 554,425
= 636,898
306 EH 2 218,000 152,360 65,640
01 &3 218,000 152,360 65,640
OMEELEE HAHNER 2Y 203,000
OMBELEE: HAHNER Xz 15,000
307 gl2tol & 611,403 612,028 A 625
J| 242,505
< 368,898
10 AtEI =S X2 X 611,403 612,028 A 625
OUHEZISE 29 100,000
J| 40,000
< 60,000
OFad 23XEHH 29 & AFHH X& 481,963
J| 192,785




2N

MM HAE W5 W 4
el BAE ALY (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
& 289,178
OFAEXNER HAHE XNZAH X 19,440
J| 9,720
= 9,720
OFAE SNHEZ 29 10,000
308 AXISHAMSOIH 311,920 292,780 19, 140
Dl 311,920
01 HXHHNBIMNEXTS 311,920 292,780 19,140
OANZ23E 29 96,000
Jl 96,000
OFA4E S0tel 29X 27,600
Jl 27,600
O22 F4H g ANd 2208 29 31,000
J| 31,000
O AE ANEXR XA 157,320
Dl 157,320
403 XX S S K201 A 1,350,000 406,000 944,000
2 1,300,000
== 50,000
01 MHXHNMAHEBE = 1,350,000 406,000 944,000
OFAE Al HY 1,300,000
Eo) 1,300,000
OFA4A IIH NWE 29 50,000
HAiadE #HIIF 29 52,500 55,500 A 3,000
Dl 47,500
= 5,000
307 QI2t0| ™ 10,000 20,000 A 10,000
Jl 5,000
o= 5,000
10 Al S X2 X 10,000 20,000 A 10,000
O HAHE HFOWHAJS 10,000
Dl 5,000
& 5,000
308 AXISHAMSOIA 42,500 35,500 7,000
Jl 42,500
01 HXHHNBMNEXS 42,500 35,500 7,000
OAZ Ea4dE FHREZ 26,250
Dl 26,250
OFAELHAANE 2HAJF 16,250
Jl 16,250
HAaE > XNE2ESAR 185,000 93,500 91,500
307 QI2t0| & 170,000 90,000 80,000
04 A2tHAIE X = 30,000 0 30,000
OSO0IAIOF HAHE HAAIMEHE K& 30,000




SN HENEZ B
N EH - X AL
L= B o

Chelr EAE G235t (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
10 A3l S X2 = 140,000 90,000 50,000
OMHAALE & 30,000
OFA4 ol g 18,000
Ozs=zd & S4RIAEL 9,000
OFAE2 & J18dA 35,000
OFAHE SotH org sl 12,000
OAINRE Z&EX 6,000
O&d24d 25tz =4 30,000
308 XtXIEHH SOl A 15,000 0 15,000
01 IXNHHBANEES 15,000 0 15,000
OFad Mg NIAAY 15,000
HiAE HEESS NAASG 2IEI2E AIEH2Y 30,000 30,000 0
J| 30,000
308 XX EHH SOl A 30,000 30,000 0
J| 30,000
TAXNEHBEEXS 30,000 30,000 0
O&FAYE XNEES KNAMII2FI2L ANE2H 30,000
| 30,000
dad UEXdE & B35 2,784,169 2,505,972 278,197
2 49,728
| 1,867,717
& 140,212
< 726,512
A #EaE XA 2,529,441 2,373,972 155,469
| 1,797,717
&2 140,212
< 591,512
307 glz2tol & 1,292,224 1,278,522 13,702
| 560,500
= 140,212
< 591,512
10 AtSI =X 2 X 1,292,224 1,278,522 13,702
T Fad SENFAA 2= 342,500
| 171,250
= 171,250
O H#44 SENIMA 2F(FLUESE2H) 46,800
| 46,800
OF2HE SHEZZ ) 2 466,500
| 233,250
= 233,250
Ok EA4a4d 454 X3 280,424
& 140,212
S 140,212
Ok stgst dAEXg 2 ssX 156,000
| 109,200




S M EE

. Had 25 2 R4
o4 H4a4d NEXE 2 BS (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 46,800
308 XXM SO A 1,237,217 1,083,450 153,767
J| 1,237,217
01 IXNHHBNEES 1,237,217 1,083,450 153,767
OANlzZ 44 SEXNZMA 2= 717,000
J| 717,000
O3xd dH 29 383,717
J| 383,717
OAZ stgst dAEXg 2 s 136,500
l 136,500
a4 B35 254,728 132,000 122,728
= 49,728
J| 70,000
< 135,000
307 21201 A 239,028 117,000 122,028
2 34,028
J| 70,000
< 135,000
10 AFRISXIE X 239,028 117,000 122,028
ORdisZL2ANE X 29,028
= 29,028
OfFdsIdZAIY 2AEYS X 10,000
2 5,000
< 5,000
OFAaYd H2sdH 299 140,000
J| 70,000
< 70,000
OfsdisgtzdZAYd sdX 60,000
308 XXM SOIA 15,700 15,000 700
= 15,700
01 IXNSHHBANEES 15,700 15,000 700
ORoistd A 29 15,700
= 15,700
BH2YAH (G AINEZ D) 93,480 97,480 £ 4,000
Jl2du (et =3aa) 93,480 97,480 24,000
Jl2Z3H (eI sd=aty) 93,480 97,480 A 4,000
201 Let24E] 40,000 44,000 A 4,000
01 At 22l 40,000 44,000 A 4,000
Ondit=g™ gexd 40,000
202 o4 Hl 42,680 42,680 0
01 2401l 42,680 42,680 0
OWEII=ZN ge=2H 42,680
203 YR =&t 10,800 10,800 0
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